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2y 0.79% (+0.4bp)
10y 1.60% (+3.4bp)
30y 228% (+4.8bp)

[7|E} 10YE]
¥z 0.72% (+5.9bp)
=9 -0.05% (+2.3bp)

2
=TS 0.19% (+1.1bp)
o|gta|ot  1.17% (-0.1bp)
|2l 1.02% (-2.6bp)
ag|a 7.93% (-1.2bp)

=224 22| 2 ME5.CHR 04%1
A

=]
=
-X 8 LEXE, oY R DM HYES M2

88 HlsY11E 275K — 151K (0f| 4:180K)
82 HYUE 49% — 4.9% (04| 2:4.8%)

78 R AKX -44.66B — -39.47B (0] &:-42.70B)
78 SEFEMoM) -1.8% — 1.9% (0 4:2.0%)
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DOW30 18491.96 (+0.39%)
NASDAQ 5249.90 (+0.43%)
S&P500 2179.98 (+0.42%)

NIKKEI225  16925.68 (-0.01%)
SHANGHAI 306735 (+0.13%)

FTSE100 6894.60 (+2.20%)
DAX30 10683.82 (+1.42%)
CAC40 454217 (+2.31%)
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2/ 11152 (+0.0043)

2/ 116.02 (+0.53)

ELIAL 103.97 (+0.78)

22/t 6.6727 (-0.0057)

NDF 1115.80 / 1116.00...1.60& |

EEERY

o

* 2R 87> % 18X

H =
<M Fe> D& old &% 5120 0.7% &S

WTI 4444 (+2.97%)
COMEXE@ 132670 (+0.70%)
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3y 1.326%  (-0.7bp)
Sy 1.380%  (0)
10y  1530% (+0.6bp)
CD 1.340% (0)

7. BC.AQ AmpC

3y -39bp  (-0.3bp)
Sy -75bp  (-1.0bp)
10y  -155bp (-1.9bp)

*IRS 22|

1Y 1.2950% (-0.75bp)
2Y 1.2800% (-1.25bp)
3Y 1.2850% (-1.25bp)
5Y 1.3050% (-1.00bp)
7Y 13225% (-1.25bp)

10Y 1.3750% (-1.25bp)
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1*2Y  -1.50 (-0.50bp)

2*3Y 050 (0)
2*5Y 250  (+0.25bp)
3*5Y 200 (+0.25bp)
5*7Y 175  (-0.25bp)
5+10Y 7.00  (-0.25bp)

*CRS =2|

1Y 1.1650%  (-0.5bp)
2Y 11100% (-0.5bp)
3Y  1.0950%  (-0.5bp)
5Y 1.0550%  (-0.5bp)
7Y 1.0150%  (-0.5bp)
10Y 1.0150%  (-0.5bp)
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=2-8€ CaixinAMH|APMI (0] ™:51.7, 0| AH51.9)
S 2=-82 MarkitZ¢PMI (0| :53.3, 0f|Ak53.3)

-82 A{H|APMI (0] F:53.1, 0f4k:53.1)

-7¢ A OfEHOf(MoM) (0] :0.0%, 0 AH0.6%)
A=-83 AH|APMI (0|M:47.4, 0] A:50.0)
£2l-88 Z3IPMI (0| T:54.4, 0f|Ak:54.4)

-82l MH|APMI (0| &:53.3, 0f4h53.3)

[2FEL2ARBA) 7|52 2F]

0] =-ISMH| | & {PMI (0] :55.5, 0] 4+:55.0)

-82 MarkitZ&PMI (0| &:51.5, 0 Ah51.5)

-89 AH|APMI (0| %:50.9, 0f4+:50.9)

-8 CB1EFMX|% (0|7:128.30)
LEZE-287| GDP(QoQ) (0|™:0.3%, 0f4+:0.3%)
£9.7 HFE(MoM) (0]™:-0.4%, 0f&:0.5%)

i
OH

Faa

|2 =A% 740
L O = o=2= A —




<20161 9% 5 AlE>

[Beige Book]

0|=-72 JOLTs QI 44 (0| F:5.624M, 0f 4:5.580M)
=-78 M=Z gL (MoM) (0|7H:-0.3%, 0f&:-0.4%)
78 AFQIMAHMOM) (0|F:1.0%, Of 4F:-0.3%)
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[ECBS 28 M 2| 2l]

O|2-MFAUALYH AR (017:263K)

Z=-88 2 Y94=X|(USD) (0|7:52.31B, 0f|AH:58.30B)
-88 £=Z(YoY) (0|T™:-4.4%, Of &:-3.5%)
-8E =2 (YoY) (0| M:-12.5%, 0| Ak:-1.2%)

AUE-287| GDP(QoQ) (0]7:0.0%, 0i|A:0.0%)

[S2= MY2AD HoMH(SLZIE) 39

0|=-78 ZOjX 2 (MoM) (O] 7F:0.3%, 0f4+:0.1%)
Z=-88 CPI(MoM) (0] :0.2%)
-82 PPI(YoY) (O] F:-1.7%)




